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Problem:

N spins forming a 1-D spin chain and they act independently.

σi is the i
th

spin and σi can be

{

1 up

0 down

The configuration of the system is σ
∼
= (σi, σ2, · · · , σN) .
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Let’s go back to the master equation, by setting dt = ǫ
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So the green function for this small step (t → t+ ǫ) is
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If a and b are just 1 or 0, we can write down

δab = 1 + 2ab− a− b.

By using this trick, we can simplify the green function. Finally, we will
have
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Now I am still trying to change the form of this green function so that
I could easily calculate the green function for a given path. And probably I
could use other tricks instead of δab = 1 + 2ab− a− b. Please tell me if you
have any ideas or questions, we can discuss and I really appreciate it!
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